s

Unit5

Introduction to Integration

e Notes and some practice are included
e Homework will be assigned on a daily basis

Topics Covered:

&  Riemann Sums & Trapezoid Rule
s Indefinite Integrals (Antiderivatives)
»  Definite Integrals (Fundamental Theorem of

Calculus Part 2)
»  Fundamental Theorem of Calculus Part 1
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¥ Riemann Sums Worksheet 1

.ven the function estimate the area bounded by the curve and the x-axis using the specified method with 6 subintervals
over the interval [-1,2]. Draw rectangles and use the graph to estimate y values
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Riemann Sums Worksheet 2

Given the function estimate the area bounded by the curve and the x-axis using the specified method with 8 subintervals
over the interval [-1,1]. Draw rectangles and use the graph to estimate y values. :
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Integration

aluate each indefinite integral

Power Rule
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Indefinite Integration

Original Integral Rewrite Integrate Simplify
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sm of Calculus Part 1
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The Fundamental Theorem of Calculus Practice

(’r each of the following problems, find the value of the integral.
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47. Midpoint (4 subintervals)
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49. Inscribed (8 subintervals)
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Left Riemann Sum (16 subintervals)
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